

Order Date

Book Depot 67 Front St. North Thorold, ON, L2V1X3 bookdepot.com service@bookdepot.com 1.800.801.7193

Thank you for shopping with BookDepoi.com? We appreciate your business.

11/2/2023 3:41:00 PM **Bill To**

9224 NORTH FIFTH STREET

ASSISTANCE LEAGUE OF ASSISTANCE LEAGUE OF **PHOENIX PHOENIX**

9224 N 5TH ST

PHOENIX, ARIZONA PHOENIX, ARIZONA

85020, UNITED STATES 85020-2533, UNITED STATES

Order# 2X4472B4V9A2Y2V Shipped Via Pending

SKU	Title	Ordered	Shipped	Price	SubTotal
9780060557737B	Hamster Champs (MathStart, Angles, Level 3)	3	3	1.50	4.50
9780060774868B	The Sword In The Grotto (Araminta Spookie, Bk. 2)	6	6	1.00	6.00
9780061236099B	Fancy Nancy And The Boy From Paris (I Can Read! Level 1)	3	3	1.00	3.00
9780061978616B	Where's The Easter Bunny? A Lift-the-Flap Book (Splat The Cat)	6	6	1.12	6.72
9780062377869B	Time for Puppy School (Fancy Nancy, I Can Read, Level 1)	4	4	1.00	4.00
9780062494313B	What This Story Needs Is a Vroom and a Zoom (A Pig in a Wig Book)	3	3	1.50	4.50
9780062652744B	Romeosaurus and Juliet Rex	2	2	1.12	2.24
9780062658883B	Amelia Bedelia Gets a Break (I Can Read, Level 1)	6	6	1.12	6.72
9780062840387B	Fishtastic! (Pinkalicious, I Can Read, Level 1)	6	6	1.12	6.72
9780062846655B	Builder Brothers: Better Together	12	12	1.25	15.00
9780062852960B	Meet the Spies (Spies in Disguise, I Can Read, Level 1)	6	6	1.12	6.72
9780062909299B	The Great Escape (S.O.S.: Society of Substitutes, Bk.1)	10	10	1.37	13.70
9780062909350B	The Zoo Switcheroo (S.O.S.: Society of Substitutes, Bk. 2)	3	3	1.37	4.11
9780062932143B	The Fuzzy Apocalypse (The Alien Adventures of Finn Caspian, Bk. 1)	10	10	1.37	13.70
9780062935175B	Beat the Clock (Amelia Bedelia & Friends, Bk. 1)	1	1	1.37	1.37
9780062961921B	Amelia Bedelia & Friends (Blast Off, Bk. 6)	3	3	1.50	4.50
9780062983350B	Nancy's Fancy Heirloom (Disney Junior Fancy Nancy, I Can Read, Level 1)	6	6	1.12	6.72
9780063003811B	Message in a Bottle (Pinkalicious, I Can Read, Level 2)	3	3	1.12	3.36
9780063009622B	Fight With the Freeze-Ray Fowls (13th Street, Bk. 6)	10	10	1.50	15.00

9780063042841B	The Shark Tooth Fairy (Baby Shark, My First I Can Read!)	6	6	1.25	7.50
9780063158856B	Meet the Shark Family and Friends (Baby Shark's Big Show, I Can Read, Level 1)	10	10	1.25	12.50
9780063256439B	Sing with Lyle (Lyle, Lyle, Crocodile)	3	3	1.50	4.50
9780064404662B	Go Fish	2	2	1.25	2.50
9780064442060B	Snowshoe Thompson (An I Can Read Book, Level 3 Grades 2 - 4)	6	6	1.00	6.00
9780064442534B	The Day I Had To Play With My Sister (My First I Can Read Book)	4	4	1.00	4.00
9780064442701B	Sammy the Seal (I Can Read, Level 1)	4	4	1.00	4.00
9780140548525B	Peanut Butter And Jelly	5	5	1.12	5.60
9780152048358B	I Wonder (Green Light Readers, Level 2)	10	10	1.12	11.20
9780152463212B	Little Nino's Pizzeria (Reading Rainbow)	3	3	1.50	4.50
9780241415306B	Peter Rabbit 2	3	3	1.37	4.11
9780310715719B	Natalie Wants a Puppy (That's Nat!)	1	1	1.12	1.12
9780316294805B	Tutu Many Problems (Sugar Plum Ballerinas, Bk. 4)	3	3	1.50	4.50
9780316496209B	Lucky's Treasure Hunt (DreamWorks Spirit, Passport to Reading, Level 2)	6	6	1.12	6.72
9780358538080B	The Sparkle Dragons (The Sparkle Dragons, Bk. 1)	6	6	1.50	9.00
9780358659594B	Pretzel and the Puppies	3	3	1.50	4.50
9780375845628B	Panda Kisses (Step Into Reading, Step 1)	6	6	1.12	6.72
9780395906958B	See the Circus (Lift the Flap Series)	6	6	1.25	7.50
9780448409351B	Kate Skates (All Aboard Reading, Station Stop 1)	5	5	1.00	5.00
9780448486581B	You Can't Drink a Meatball Through a Straw (Here's Hank, Bk. 7)	3	3	1.37	4.11
9780515157192B	Everybody Is Somebody (Here's Hank, Bk. 12)	8	8	1.37	10.96
9780547576954B	Mr. Putter and Tabby Clear the Decks	3	3	1.37	4.11
9780593093399B	The Shark Report (Benny McGee and the Shark, Bk. 1)	2	2	1.50	3.00
9780593095744B	Star Power (Astronaut Girl, Bk. 2)	2	2	1.37	2.74
9780593120651B	We Love Bubbles! (Bobo and Pup-Pup)	3	3	1.50	4.50
9780593223796B	Endless Pawsibilities	5	5	1.25	6.25
9780593304426B	Marvel Shang-Chi (Little Golden Book)	10	10	1.25	12.50
9780593307748B	Trouble in the Dream Dimension (Marvel: Doctor Strange)	6	6	1.25	7.50
9780593310137B	School Day! (Blue's Clues & You)	6	6	1.25	7.50
9780593310250B	Goddess of Thunder! (Marvel The Mighty Thor)	6	6	1.25	7.50
9780593377079B	Happy Birthday, Elbow Grease! (Elbow Grease)	4	4	1.00	4.00
9780593432082B	Hawkeye (Little Golden Book)	5	5	1.25	6.25
9780593434444B	Let's Go, Bike! (Step Into Reading, Step 2)	6	6	1.12	6.72
9780593479148B	How to Do a Science Experiment (Step Into Reading, Step 2)	10	10	1.25	12.50
9780593479179B	How to Bake an Apple Pie (Step Into Reading, Step 2)	6	6	1.37	8.22
9780593563717B	Ready? Set. Birthday! (Raymond and Roxy, Step Into Reading, Step 2)	3	3	1.37	4.11
9780618111244B	On Monday When It Rained	6	6	1.13	6.78

9780688120313B	The House On Maple Street	10	10	1.31	13.10
9780689817120B	Some Good News (Cobble Street Cousins, Bk. 4)	6	6	1.25	7.50
9780689857577B	The Dragon Of Doom (Moongobble And Me, Bk. 1)	3	3	1.50	4.50
9780736442626B	The Panda in You! (Disney Pixar's Turning Red)	4	4	1.25	5.00
9780736442930B	How to Be a Space Ranger (Disney/Pixar Lightyear)	6	6	1.50	9.00
9780794439309B	Three, Two, One, Genie Jewel Fun! (Shimmer and Shine)	4	4	1.37	5.48
9781250022165B	The One and Only Stuey Lewis (Stories from the Second Grade)	3	3	1.50	4.50
9781250103789B	James to the Rescue (The Masterpiece Adventures, Bk. 2)	3	3	1.37	4.11
9781328567840B	I Love to Swim! (Splash and Bubbles)	3	3	1.50	4.50
9781368058094B	Cover Blown (The Gumazing Gum Girl!, Bk. 4)	3	3	1.37	4.11
9781416917762B	Ruby Lu, Star of the Show	6	6	1.37	8.22
9781442498242B	Where's Glimmer? (Unicorn Magic, Bk. 2)	1	1	1.50	1.50
9781481476164B	The Star Wolf (The Secret Rescuers, Bk. 5)	2	2	1.37	2.74
9781481487177B	The Winter Princess (Mermaid Tales, Bk. 20)	3	3	1.37	4.11
9781524790011B	The Night Before Kindergarten Graduation	10	10	1.12	11.20
9781534414334B	We Forgot Brock!	3	3	1.12	3.36
9781534437500B	Daniel Loves You (Daniel Tiger's Neighborhood)	6	6	1.12	6.72
9781534455085B	Save the Unicorns (Royal Sweets, Bk. 6 - QUIX)	6	6	1.25	7.50
9781534467859B	Vacation Day! (The Boss Baby Back in Business)	1	1	1.12	1.12
9781547608928B	Ruby's Fiery Mishap (Gemstone Dragons, Bk. 2)	3	3	1.37	4.11
9781547610891B	Topaz's Spooky Night (Gemstone Dragons, Bk. 3)	5	5	1.25	6.25
9781547610921B	Emerald's Blooming Secret (Gemstone Dragons, Bk. 4)	10	10	1.25	12.50
9781664340336B	I Love You to the Moon and Back Sticker Activity Book	6	6	1.37	8.22
9781680104059B	The Kitten Nobody Wanted and Other Tales (Pet Rescue Adventures)	3	3	1.37	4.11
9781680105742B	I Love You, Little Chick	4	4	1.00	4.00
9781800587694B	Rumpelstiltskin (Reading With Phonics)	1	1	1.12	1.12
9781984813626B	We're Going on a Goon Hunt: A Petrifying Parody	3	3	1.37	4.11
9781984852571B	I Love You, Mommy! (Little Golden Book)	3	3	1.00	3.00
9781984892515B	I Love You, Daddy! (Little Golden Book)	3	3	1.00	3.00
			SubTotal		517.99
			Coupon		0.00
			Tax		52.77
			Shipping		96.30
			Total		667.06

PAID IN FULL



Book Depot 67 Front St. North Thorold, ON, L2V1X3 bookdepot.com service@bookdepot.com 1.800.801.7193

We appreciate your business:

Order Date 10/27/2023 1:02:00 AM Bill To Ship To

> ASSISTANCE LEAGUE OF ASSISTANCE LEAGUE OF **PHOENIX PHOENIX**

9224 NORTH FIFTH STREET 9224 N 5TH ST

PHOENIX, ARIZONA PHOENIX, ARIZONA

85020, UNITED STATES 85020-2533, UNITED STATES

NQWV68D967M23Y3 Order# Shipped Via Pending

sku	Title	Ordered	Shipped	Price	SubTotal
9780061478178B	Just a Special Day (Little Critter, My First I Can Read!)	6	6	1.00	6.00
9780062338457B	Maya's Story (Backyard Witch, Bk. 3)	2	2	1.12	2.24
9780062382634B	The Last Hope (Warriors: Omen of the Stars, Bk. 6)	2	2	1.12	2.24
9780062654717B	The Berenstain Bears' Big Track Meet (I Can Read, Level 1)	4	4	1.12	4.48
9780062658852B	Amelia Bedelia on the Move (I Can Read, Level 1)	4	4	1.12	4.48
9780062840448B	Pinkalicious and the Merminnies (I Can Read, Level 1)	2	2	1.12	2.24
9780062963369B	Destined for Greatness (Wonder Woman 1984, I Can Read, Level 3)	4	4	1.12	4.48
9780063003811B	Message in a Bottle (Pinkalicious, I Can Read, Level 2)	2	2	1.12	2.24
9780063037489B	Sunny's Day (My Little Pony, I Can Read Comics, Level 1)	2	2	1.12	2.24
9780064420501B	Animal Adventures (The Laura Years, Bk. 3)	1	1	1.12	1.12
9780064441988B	The Long Way Westward (I Can Read, Level 3)	14	14	1.00	14.00
9780147514905B	Fenway and Hattie	6	6	1.12	6.72
9780316496209B	Lucky's Treasure Hunt (DreamWorks Spirit, Passport to Reading, Level 2)	6	6	1.12	6.72
9780385387811B	Frostborn (Thrones & Bones)	1	1	1.12	1.12
9780525647454B	Black Adam Strikes! (DC Justice League, Step Into Reading, Step 3)	4	4	1.25	5.00
9780593172490B	Amelia Fang and the Rainbow Rangers (Amelia Fang, Bk. 4)	1	1	1.25	1.25
9780671047597B	The End of the Trail (The Hardy Boys Bk. 162)	2	2	1.00	2.00
9780689712029B	I'll Fix Anthony	2	2	1.00	2.00
9780698119420B	What's The Matter With Herbie Jones?	2	2	1.12	2.24
9780736442916B	Disney/Pixar Lightyear (a Little Golden Book)	4	4	1.12	4.48

9780736443265B	Disney Strange World	4	4	1.12	4.48
9780759556201B	The Puppy War (Wild & Chance, Bk. 2)	2	2	1.12	2.24
9781101994474B	Cosmic Commandos	2	2	0.95	1.90
9781368022668B	Kazu Jones and the Denver Dognappers (Kazu Jones, Bk. 1)	2	2	1.12	2.24
9781423100843B	The Million Dollar Shot (Bk. 1)	2	2	1.12	2.24
9781481438803B	The Madman of Black Bear Mountain (Hardy Boys Adventures)	2	2	1.12	2.24
9781481458276B	Candy Kingdom Chaos (Nancy Drew Clue Book #7)	3	3	1.12	3.36
9781481458894B	Shai & Emmie Star in To the Rescue! (A Shai & Emmie Story)	3	3	1.12	3.36
9781481466714B	Our Principal's In His Underwear! (QUIX)	3	3	1.12	3.36
9781481470179B	Medea the Enchantress (Goddess Girls, Bk. 23)	1	1	1.12	1.12
9781680104424B	Cassie and Charm (Pony Camp Diaries, Bk. 5)	2	2	1.12	2.24
9781984816764B	The Hiddenseek	2	2	1.25	2.50
-			SubTotal		108.57
			Coupon		0.00
			Tax		11.29
			Shipping		21.83
			Total		141.69

PAID IN FULL

Thank you for your business

Shop online at: www.bookdepot.com

Orders may be canceled within 24 hours of being submitted before additional charges may apply. There is a 15% restocking fee for any orders that are canceled while in production. All product purchased from Book Depot is non-returnable.

If you have any questions about your purchase, please contact our Customer Support team at 1-800-801-7193 or service@bookdepot.com.

FIRST BOOK 🤽

INVOICE

Date: Oct 12, 2023

Order # 7001063013

Grand Total

€47.25

Order Date:Oct 6, 2023

Marketplace

1319 F ST NW • Suite 1000 Washington DC 20004 fbmarketplace.org finance@firstbook.org Tel: 866.732.3669

Dook Gifts - (Rotary grant)

Ship to

Bill to

Payment Credit Card

Sue Brash ASSISTANCE LEAGUE OF PHOENIX 9224 N 5TH ST PHOENIX, Arizona, 85020-2533 United States Sue Brash ASSISTANCE LEAGUE OF PHOENIX 9224 N 5TH ST PHOENIX, Arizona, 85020-2533 United States

T: 6023179444

T: 6023179444

Product	SKU	ISBN Price	Qty	Tax	Subtotal
Star Wars: Forces of Destiny: Daring Adventures, Volume 2	412159	9781368011204\$1.35	4	\$0.00	\$5.40
Star Wars: Forces of Destiny #1: Daring Adventures	410780	9781368011228 \$1.35	4	\$0.00	\$5.40
Star Wars: Han and the Rebel Rescue	412179	9781368003520 \$1.35	4	\$0.00	\$5.40
Star Wars: The Last Jedi: Rose and Finn's Secret Mission	412128	9781484705544 \$1.35	4	\$0.00	\$5.40
Journey to Star Wars: The Last Jedi: A Leader Named Leia (World of Reading, Level 2)	410788	9781368009768 \$1.35	1	\$0.00	\$1.35
Star Wars: Trapped in the Death Star! (World of Reading, Level 2)	408365	9781484705100 \$1.35	4	\$0.00	\$5.40
Star Wars: Forces of Destiny: The Leia Chronicles	412161	9781368011181 \$1.35	4	\$0.00	\$5.40
Teen Beach Movie	404351	9781423177906 \$1.35	2	\$0.00	\$2.70
Kingdom Keepers #7: The Insider (Hardcover)	113946	9781423164906 \$1.35	2	\$0.00	\$2.70
Journey to Star Wars: The Last Jedi: The Power of the Force	410793	9781484780756 \$1.35	4	\$0.00	\$5.40
The Trials of Apollo #3: The Burning Maze (Hardcover)	412747	9781484746431 \$1.35	2	\$0.00	\$2.70
			Subtotal		\$47.25
			Grand To	otal	\$47.25

Remit checks payable to:

First Book

c/o PNC Bank First Book Lockbox # 826769 312 W Route 38 Moorestown, NJ 08057

Order # 7001058645

FIRE BOOK L

Marketplace

Search entire store here...

Jeannie

Book Gifts-(Rotary
grant)

PROCESSING

Order # 7001058645

October 4, 2023

Reorder Cancel Order

Items Ordered

Borns)

Items Ordered

Subtotal **Product Name** SKU Price Qty Welcome to \$21.60 \$21.60 438966 Ordered: 1 the Dig Kids Club: What Every Older Silding Needs to !'now (Chiton of 24 Hardcover

Subtotal \$95.20

Shipping & Handling \$0.00

Grand Total \$95.20

Product Name	SKU	Price	Qty	Subtotal
Mrs. Frisby and the Rats of Nimh (Carton of 64 Paperback Books)	136968	\$44.80	Ordered: 1	\$44.80
Sneakerella (Carton of 48 Paperback Books)	435 73 1	\$28.80	Ordered: 1	\$28.80
			Subtotal	\$95.20

Shipping & Handling \$0.00

> **Grand Total** \$95.20

Order Information

Shipping Address

Sue Brash ASSISTANCE LEAGUE OF PHOENIX 9224 N 5TH ST PHOENIX, Arizona, 85020-2533 **United States**

T: 6023179444

Shipping Method

Flat Rato Shipping (Not Applied to Book Bank)

Billing Address

Sue Brash ASSISTANCE LEAGUE OF PHOENIX 9224 N 5TH ST PHOENIX, Arizona, 85020-2533 **United States**

T: 6023179444

Payment Method

Credit Card

Credit Card Type

Visa

Credit Card Number

XXXX-1394

Additional Email Address



First Book is a 501(c)(3) nonprofit that exclusively supports educators and program Advanced Catalog Search leaders serving children in need. Books, resources, or any goods obtained via the fbmarketplace.org website are strictly prohibited from being resold for any reason. Any breach of this policy may lead to legal consequences including (but not limited to) exclusion from our network. Please refer to First Book's eligibility requirements for more information. First Book cannot guarantee cancellations or adjustments to orders once they have been transferred to our warehouse for processing. In order to continue our mission, the First Book Marketplace cannot accept returns and all sales are final (including orders for digital products).

Become a Member About the First Book Marketplace Support First Book Partner with First Book Mobile Terms & Conditions Privacy Policy

<u>FAQs</u>

Follow us on social media:

















67 FRONT STREET N. THOROLD, ONTARIO L2V 1X3 CANADA

403 E OLD ANDREW JOHNSON HWY JEFERSON CITY, TENNESSEE

37760 USA

Phone: 1-800-801-7193

Fax: 905-680-7218

- Jennik

Order Date 10/27/2023 1:02:00 AM Order # NQWV68D967M23Y3

Customer's P.O. # Not Required

Batch # Seq # 0

Book Gifts - Rotar

Email: sales@bookdepot.com

Invoice (Customer Copy)

BILL TO:

Name: Assistance League of Phoenix

Unit #:

Street: 9224 North Fifth Street

City: Phoenix
Prov/State: Arizona
Country: United States
Postal/ZIP: 85020

Customer #: 111204 Billing #: 111204 SHIP TO:

Name: Assistance League of Phoenix

Unit #:

Street: 9224 N 5th St City: Phoenix Prov/State: AZ

Country: United States Postal/ZIP: 85020-2533

Tax #:

Ordered	Shipped	ISBN	Tariff Number	Title	Origin	Net \$	Total
4	4	9780062658852	9801.00.1098	Amelia Bedelia on the	United States	1.12	4.48
1	1	9780593172490	9801.00.1098	Amelia Fang and the	United States	1.25	1.25
1	1	9780064420501	9801.00.1098	Animal Adventures (The	United States	1.12	1.12
4	4	9780062654717	9801.00.1098	The Berenstain Bears' Big	United States	1.12	4.48
4	4	9780525647454	9801.00.1098	Black Adam Strikes! (DC	United States	1.25	5.00
3	1	9781481458276	9801.00.1098	Candy Kingdom Chaos	United States	1.12	1.12
2	2	9781680104424	9801.00.1098	Cassie and Charm (Pony	China	1.12	2.24
2	2	9781101994474	9801.00.1098	Cosmic Commandos	China	0.95	1.90
4	4	9780062963369	9801.00.1098	Destined for Greatness	United States	1.12	4.48
4	4	9780736443265	9801.00.1098	Disney Strange World	United States	1.12	4.48
4	4	9780736442916	9801.00.1098	Disney/Pixar Lightyear (a	United States	1.12	4.48
2	2	9780671047597	9801.00.1098	The End of the Trail (The	United States	1.00	2.00
6	6	9780147514905	9801.00.1098	Fenway and Hattie	United States	1.12	6.72
1	1	9780385387811	9801.00.1098	Frostborn (Thrones &	United States	1.12	1.12
2	2	9781984816764	9801.00.1098	The Hiddenseek	United States	1.25	2.50
2	2	9780689712029	9801.00.1098	I'll Fix Anthony	Hong Kong	1.00	2.00
6	6	9780061478178	9801.00.1098	Just a Special Day (Little	United States	1.00	6.00
2	2	9781368022668	9801.00.1098	Kazu Jones and the Denver	United States	1.12	2.24
2	2	9780062382634	9801.00.1098	The Last Hope (Warriors:	United States	1.12	2.24
14	0	9780064441988	9801.00.1098	The Long Way Westward (I	United States	1.00	0.00
6	6	9780316496209	9801.00.1098	Lucky's Treasure Hunt	China	1.12	6.72
2	2	9781481438803	9801.00.1098	The Madman of Black Bear	United States	1.12	2.24
2	2	9780062338457	9801.00.1098	Maya's Story (Backyard	United States	1.12	2.24
1	1	9781481470179	9801.00.1098	Medea the Enchantress	United States	1.12	1.12
2	2	9780063003811	9801.00.1098	Message in a Bottle	United States	1.12	2.24
2	2	9781423100843	9801.00.1098	The Million Dollar Shot	United States	1.12	2.24
3	3	9781481466714	9801.00.1098	Our Principal's In His	United States	1.12	3.36
2	2	9780062840448	9801.00.1098	Pinkalicious and the	China	1.12	2.24
2	2	9780759556201	9801.00.1098	The Puppy War (Wild &	United States	1.12	2.24
3	2	9781481458894	9801.00.1098	Shai & Emmie Star in To	United States	1.12	2.24
2	2	9780063037489	9801.00.1098	Sunny's Day (My Little	United States	1.12	2.24
2	2	9780698119420	9801.00.1098	What's The Matter With	United States	1.12	2.24



Adicates "Blowout" title

82 Total Units Shipped

Please Note: If an item is sold out, quantity shipped will be less than quantity ordered.

SHIPPING INFOR	RMATION:				
				Total Line Items: \$	91.21
Ship D ate:	11/2/2023 12:00:00 A	M		Less Coupon/Credit: \$	0.00
Shipped Via:	UPS			Subtotal: \$	91.21
Weight:	24 (lbs)	Cube:		Shipping: \$	21.83
# Bins:	0	# Boxes: 1	# Skids: 0	Tax: \$	9.81
Tracking #:				Total \$ USD	122.85

Payment Method: VISA

Payment Terms:

Shipping Instructions:

PAID IN FULL

Thank you for your business

Shop online at: www.bookdepot.com

Additional Notes:

Merchandise can not be returned without prior permission. Claims for shortage must be made within 15 days on receipt of goods.

Printed: November 16, 2023 8:30:30 AM





Book Depot 67 Front St. North Thorold, ON, L2V1X3

bookdepot.com service@bookdepot.com 1.800.801.7193

Thank you for shopping with BookDepot.com! We appreciate your business.

. _

ASSISTANCE LEAGUE OF

PHOENIX

Bill To

ASSISTANCE LEAGUE OF

PHOENIX

9224 NORTH FIFTH STREET

9224 N 5TH ST

PHOENIX, ARIZONA

PHOENIX, AZ

85020, UNITED STATES

85020-2533, UNITED STATES

Order#

Order Date

SR-AC2310250035

10/25/2023 4:12:00 PM

Shipped Via

UPS

SKU	Tille	orderat s	hijope o	Price	Silitrofal
9780689713712B	Good-Night, Owl!	8	8	1.50	12.00
9780358467748B	Matias and the Cloud	2	2	1.50	3.00
9781926444512B	Animal Bedtime	4	4	1.75	7.00
9781534482210B	Big Dreams! (Angelina Ballerina)	2	2	1.75	3.50
9781523510061B	Good Night, Spencer (A Spencer Bedtime Book)	4	4	1.75	7.00
9781534479821B	Master of Naptime (Baby by DreamWorks)	3	3	1.75	5.25
9781534405417B	A Raccoon at the White House (Tails From History, Ready-To-Read, Level 2)	4	4	1.25	5.00
9781450883474B	Bubble Guppies Little First Look and Find	2	2	1.50	3.00
9780064450782B	Digging Up Dinosaurs (Let's Read And Find Out Science, Level 2)	4	4	1.50	6.00
9781499816501B	The Statue of Liberty (Blast Back!)	4	4	1.50	6.00
9780593402962B	Diana Taurasi (She Persisted)	2	2	1.37	2.74
9781499816495B	The Space Race (Blast Back!)	3,	3	1.50	4.50
9781499816518B	The Titanic (Blast Back!)	3	3	1.50	4.50
9781641705585B	D Is for Desert: An ABC Desert Primer	2	2	1.62	3.24
9780142411933B	Boy, Were We Wrong About Dinosaurs!	3	3	1.75	5.25
9781605372211B	Chameleon Sees Colors	4	4	1.50	6.00
9780064442565B	Dinosaur Hunter (I Can Read, Level 4)	2	2	1.00	2.00
9 7 80062115973B	Splat the Cat Makes Dad Glad (I Can Read, Level 1)	2	2	1.00	2.00
9780 7 36442916B	Disney/Pixar Lightyear (a Little Golden Book)	2	2	1.12	2.24
9781503 7 58148B	June Gets a Job: A Story About Responsibility (Disney Growing Up Stories)	10	10	1.12	11.20
9781503754577B	Disney Frozen Adventures on Ice: Stories and Activity Book from Arendelle and Beyond!	4	4	1.25	5.00
9781250302908B	Ghosts of Weirdwood (Thieves of Weirdwood, Bk. 2)	2	2	0.75	1.50

A					
9 7 8144242 7 563B	All But Alice (Alice)	2	2	1.12	2.24
9780689837883B	The Art of Keeping Cool	2	2	1.12	2.24
9781481463454B	Arts and Thefts (MAX)	2	2	1.12	2.24
9781442495418B	Betsy Ross's Star (Blast to the Past, Bk. 8)	6	6	1.12	6.72
9780062494481B	A Dog in King Arthur's Court (Cavall in Camelot, Bk. 1)	2	2	1.12	2.24
9780060008468B	The Earth Dragon Awakes	2	2	1.12	2.24
9781534417359B	Emma Catwalks and Cupcakes! (Cupcake Diaries, Bk. 31)	1	1	1.12	1.12
9780142422045B	The Fingertips of Duncan Dorfman	2	2	1.12	2.24
9781681190563B	The Great Shelby Holmes Meets Her Match	4	4	1.12	4.48
-		S	ubTotal		133.68
	x	С	oupon		0.00
		T	ax		15.18
		S	hipping		42.30

PAID IN FULL

191.16

Total

Thank you for your business

Shop online at: www.bookdepot.com

Orders may be canceled within 24 hours of being submitted before additional charges may apply. There is a 15% restocking fee for any orders that are canceled while in production. All product purchased from Book Depot is non-returnable.

If you have any questions about your purchase, please contact our Customer Support team at 1-800-801-7193 or service@bookdepct.com.

astolition ways he ic

PO BOX: 639852

Cincinnati, OH 45263-9852

ORIGINAL

Regular Order

		PROGRAMMEN DESPERANCE SEASON	الله
T.C.	DATE	INVOICE NO.	PAGE
7	10/24/23	53750601	1
		ALCOHOLD CONTRACTOR	H.

13981511

BILL ASSISTANCE LEAGUE OF PHOENIX

92**24 N 5TH ST**

PHOENIX AZ 85020-2533

TO

SHIP ASSISTANCE LEAGUE OF PHOENIX

SUE BRASH 9224 N 5TH ST

PHOENIX AZ 85020-2533 TO

ACCOUNT NO.	ORDER	REF. NO. PURCHASE ORDER NUMBER					
3981511	766	71145					
ITEM	JANTITY	DESCRIPTION	OFFICE USE	UNIT PRICE	EXTENSION	DISC.%	NET AMOUNT
To the Control of the		STATE LAW REQUIRES THAT SAL UNLESS WE HAVE A TAX EXEMPT HAS BEEN ADDED TO YOUR ORDE PLEASE FAX YOUR TAX EXEMPTIOR MAIL TO SCHOLASTIC INC., JEFFERSON CITY, MO. 65101	ION CER' R AND YO ON CERT	TIFICATE OU ARE TA IFICATE	ON FILE. X-EXEMPT, O 1-800-56	IF T	
OX57969	1	LIT PARTNER BONUS 3-5B VA P ISBN: 978-0-590-57969-8	P 2179	0.00	0.00		0.00
0948847	1.	LIT PARTNER BONUS 3-5A FA P ISBN: 978-0-439-48847-1	P 2179	0.00	0.00		0.00
0500207	40	IVY + BEAN #2: IVY + BEAN P ISBN: 978-0-545-00207-3	вк 2179	1.75	70.00		70.00
OX44771	40	SHARK LADY P ISBN: 978-0-590-44771-3	вк 2179	1.75	70.00		70.00
0958863	40	FLAT STANLEY (REV ART 9/0 P ISBN: 978-0-439-58863-8	BK 2179	1.50	60.00		60.00
QUANTITY		WEIGHT			E. C.	, con	TINUED

PLEASE MAKE CHECKS OR MONEY ORDERS PAYABLE TO

ilisvoietoj vavedieto

PO BOX: 639852 Cincinnati, OH 45263-9852

ORIGINAL

SHIPPE.

TTEMS

303

Regular Order

PAGE T.C. DATE INVOICE NO. 7 10/24/23 **5**3750601 2

13981511

BILL ASSISTANCE LEAGUE OF PHOENIX

3224 N 5TH ST

PHOENIX AZ 85020-2533

TO

SHIP ASSISTANCE LEAGUE OF PHOENIX

SUE BRASH

9224 N 5TH ST

PHOENIX AZ 85020-2533 TO

L							_				
ACCOUNT NO.	ORDEF	ORDER REF. NO.		PURCHASE C	ORDER NUMBER						
3981511	766	76671145									
ITEM	"ANTITY	<u></u>		DESCRIP	PTION		OFFICE USE	UNIT PRICE	EXTENSION	DISC.%	NET AMOUNT
0545192	40				ALLIGATOR -45192-5	PBK	2179	1.65	66.00		66.00
0530171	40				KOMODO DR -30171-8	PBK	2179	1.50	60.00		60.00
0517571	40				LION VS.	PBK	2179	1.50	60.00		60.00
0585824	40				REDDIE RAM -85824-3	PBK	2179	1.50	60.00		60.00
'											
								,			
							ITEM TAX SUBTO	TOTAL			446.00 38.36 484.36
QUANTITY				VEIGHT			<u> </u>				404.26
282			4.8	3.47		PLEASE PAY THIS AMOUNT					484.36
	- i										

PLEASE MAKE CHECKS OR MONEY ORDERS PAYABLE TO

SCHOLASTIC INC.

If there are any questions regarding payment, purchases or returns, please return this invoice for prompt adjustment.

1024 0526

30 NET

13-1824190

FEIN # TERMS: